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?3197 1 ueaannlszuavesramanSouRousunamasiniaie y(x) =1n*(x +3)

i y(x,) y(x) error
0 1.2069490 12069490  0.00e+000
[ 1.2800708 1.2800707 .65¢-008
2 1.352919% 1.3529198 2.70e-008
3 1.4254509 14254509  3.27¢-008
4 1.4976263 1.4976263 3.48¢-008
5 1.569415! 1.5694151 3.41e-008
6 1.6407915 1.6407915 3.13¢-008
7 17117348 1.7117348 2.69e-008
8 17822279 1.7822278  2.13¢-008
9 18522572 1.8522572 1.48¢-008
10 19218121 1.921812] 7.61e-009
11 1.9908842 1.9908842  2.22e-016
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M15190 2 uaeanlszinavsamaafSouoununamasiuned p(x) =sin =

i y(x) ¥x) error

0 0.0000011 (.4000000 1.07e-006
1 0.1045292 0.1045285 7.85e-007
2 0.2079122 0.2079117 4.94e-007
3 03090172 0.3090170 2.07e-007
4 04067366 .4067366 7.47e-008
5 0.4999697 0.5000000 3.42e-007
6 0.5877847 0.5877853 5.93e-007

7 0.6691298 0.6691306 %.22e-007

8 0.7431438 0.7431448 1.02e-006
9 0.8090158 0.8090170 1.20e-006
10 0.8660241 0.8660254 1.34e-0006
11 09135340 0.9135455 1.46e-006
12 0.9510550 09510565 1.55e-006
13 0.9781460 0.9781476 1.60e-006
14 0.9945203 0.9945219 1.61e-006
15 0.9999984 1.0000000 1.57e-006
16 0.9945204 0.9945219 1.50e-006

17 0.9781462 3.9781476 1.38e-006
I8 0.9510553 0.9510565 1.23e-006
19 0.9135444 0.9135455 1.03e-006
20 0.8660246 0.8660254 8.03¢-007
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M3190 3 vaasanlizinmvesmamauFouReunRamasiuiese y(x) =e +x

P ) ervor
0 1.0000054 1.0000000 5.37¢-006
1 1.1012765 11012711 5.36e-006
2 1.2051763 1.2051709 5.36e-006
3 1.311839¢6 1.3118342 5.36e-006
4 14214081 1.4214028 5.35e-006
5 1.5340308 1.5340254 5.35e-006
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A1 19N 3 (@D)

i Y(x,) »(x) ertar
6 1.6498642 1.6498588 5.34e-006
7 1.7690729 1.7690675 5.34e-006
& 1.8918300 1.8918247 3.33e-006

9 2.0183175 2.0183122 5.33e-006
10 2.1487266 2.1487213 5.32e-006
11 22832583 22832530 5.31e-006
12 24221241 24221188 5.31e-006
13 2.5655461 2.5655408 5.30e-006
14 27137380 2.7137527 5.29e-006
l5  2.8670053 2.8670000 5.29e-006
16 3.0255462 3.0255409 5.28e-006
17 3.1896521 3.1896469 3.27e-006
18 3.35960%4 3.35%96031 5.26e-006
19 3.5357149 3.5357097 5.25e-006

20 3.7182K71 3.718281% 5.23e-006
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t:i 1 =] Ly q' 3 o 2
319N 4 taaamilszinavesmamanifSsuioununamaiinyiagg y(x)=x" +1

i y(x) y(x) error

¢ 2.0000000 2.0000000 2.07e-014

1 21025000 2.1025000 1.91e-014
2 2.2100000 2.2100000 1.73e-014
3 2.3225000 2.3225000 1.60e-014
4 2.4400000 2.4400000 1.47e-014

5 2.5625000 2.5625000 1.38e-014

6 2.6900000 2.6900000 1.20e-014
7 2.8225000 2.8225000 1.11e-014
8 2.9600000 2.9600000 1.02e-014

9 3.1025000 3.1025000 9.77e-015
10 3.2500000 3.2500000 8.88e-015
11 3.4025000 3.4025000 8.44e-015
12 3.5600000 3.5600000 7.99e-015
13 3.7225000 3.7225000 7.55e-015
14 3.8900000 3.8900000 7.55e-015
15 4.0625000 4.0625000 T.11e-015

16 4.2400000 4.2400000 7.11e-015
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15190 4 (919)

i yx) yix) error

17 4.4225000 4.4225000 71.9%-015
18 4.6100000 4.6100000 7.99¢-015
19 4.8025000 4.8025000 8.88e-015
20 5.0000000 5.0000000 8.88e-013
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guing [1.7854422, 1.0000182, —4.0000627, 1.0542557]" Tumisimim 13 9 Fufuwa
watveaTayin (e gas sduunzmfadauTumsad 10 vamanwIn N LazmsFou

L=y 4
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A1519% 5 uaasiiznvsskamanSoufouduramasiniis s p(x) =sin 2x+x

i y(x) ¥(x) error

0 0.0000253 0.0000000 2.53e-005
1 0.2350015 0.2349743 2.73e-005
2 0.4661259 0.4660966 2.93e-005
3 0.6896412 0.6896099 3.12e-005

4 0.9019777 0.9019445 3.32e-005

5 1.0998410 1.0993059 3.51e-005
6 1.2802929 1.2802559 3.71e-005
7 1.4408241 1. 4407852 3.89e-005
8 15794157 1.5793750 4.07e-005
9 1.6945891 1.6945467 4.24e-005
10 1.7854422 1.78539%2 4.40e-005
1 1.8516716 1.8516263 4.52e-005
12 18935807 1.8935343 4.63e-005
13 19120714 1.9120241 4.73e-005
14 1.9086224 1.9085744 4.80e-005
15 1.8852526 1.8852040 4.85e-005
16 1.8444712 1.8444223 4.88e-005
17 17892163 1.7891674 4.89e-005
18 1.7227824 1.7227337 4.87e-005
19 1.6487393 1.6486910 4.83e-005

20 1.5708439 1.5707963 4.76e-005




